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Solve each problem. Answer as an improper fraction (if necessary).
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=

1
28

12)
1

5

6
45

×
9

42

1

7
=

1
35

13) 18

3
93

5
×

11
8 4

=
99
20

14) 23

2
4

7
8

×
14
5

7
=

161
20

15) 11

1
4

3
8

×
18
5

9
=

99
20

16) 6

1
31

5
×

1
21

=
3
5

17)

2

5
6

× 1
1
8

93
=

15
16

18)
1 2

3
×

7
4 2

=
7
6

1.

2⁄5
2.

1⁄7
3.

3⁄14

4.

2⁄5
5.

18⁄25

6.

2⁄7
7.

1⁄2
8.

4⁄5
9.

2⁄3
10.

1⁄20

11.

1⁄28

12.

1⁄35

13.

99⁄20

14.

161⁄20

15.

99⁄20

16.

3⁄5
17.

15⁄16

18.

7⁄6

     

Solve each problem. Answer as an improper fraction (if necessary).
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Answers
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1-10 94 89 83 78 72 67 61 56 50 44
11-18 39 33 28 22 17 11 6 0

1)

1

1
2

×
4
5

2
=

2
5

2)
1 5

7
×

1
51

=
1
7

3)

2

3
4

×
2
7

1
=

3
14

4)
2 4

5
×

1
21

=
2
5

5)
2 4

5
×

9
105

=
18
25

6)
2 6

7
×

1
3 1

=
2
7

7)
1

2

3
4

×
2
3

1

1
=

1
2

8)
1

5

9
10

×
8
9

4

1
=

4
5

9)
1

3

5
6

×
4
5

2

1
=

2
3

10)
1

4

6
36

×
9
30

1

5
=

1
20

11)
1

7

9
49

×
7
36

1

4
=

1
28

12)
1

5

6
45

×
9

42

1

7
=

1
35

13) 18

3
93

5
×

11
8 4

=
99
20

14) 23

2
4

7
8

×
14
5

7
=

161
20

15) 11

1
4

3
8

×
18
5

9
=

99
20

16) 6

1
31

5
×

1
21

=
3
5

17)

2

5
6

× 1
1
8

93
=

15
16

18)
1 2

3
×

7
4 2

=
7
6

1.

2⁄5
2.

1⁄7
3.

3⁄14

4.

2⁄5
5.

18⁄25

6.

2⁄7
7.

1⁄2
8.

4⁄5
9.

2⁄3
10.

1⁄20

11.

1⁄28

12.

1⁄35

13.

99⁄20

14.

161⁄20

15.

99⁄20

16.

3⁄5
17.

15⁄16

18.

7⁄6

     

Solve each problem. Answer as an improper fraction (if necessary).
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1-10 94 89 83 78 72 67 61 56 50 44
11-18 39 33 28 22 17 11 6 0

1)
3 9

10
×

1
31

=
3
10

2)

1

1
2

×
4
5

2
=

2
5

3)
1 2

5
×

1
2 1

=
1
5

4)
1 2

7
×

5
84

=
5
28

5)

4

7
8

×
2
9

1
=

7
36

6)
1 4

5
×

1
4 1

=
1
5

7)
2

1

6
7

×
7
9

1

3
=

2
3

8)
2

1

4
5

×
5
6

1

3
=

2
3

9)
1

2

3
4

×
2
3

1

1
=

1
2

10)
1

10

8
20

×
2
16

1

2
=

1
20

11)
1

7

7
35

×
5
35

1

5
=

1
35

12)
1

10

9
20

×
2

81

1

9
=

1
90

13)

2

3
8

×
12
5

3
=

9
10

14)

3

5
6

×
14
9

7
=

35
27

15)
13 26

7
× 2

1
2

5

1
=

65
7

16) 26

2
3

8
9

×
3
5

1
=

26
15

17)

5

1
10

× 3
1
9

2814
=

14
45

18)

1

2
5

×
5
3

1
=

2
3

1.

3⁄10

2.

2⁄5
3.

1⁄5
4.

5⁄28

5.

7⁄36

6.

1⁄5
7.

2⁄3
8.

2⁄3
9.

1⁄2
10.

1⁄20

11.

1⁄35

12.

1⁄90

13.

9⁄10

14.

35⁄27

15.

65⁄7
16.

26⁄15

17.

14⁄45

18.

2⁄3

     

Solve each problem. Answer as an improper fraction (if necessary).
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1-10 94 89 83 78 72 67 61 56 50 44
11-18 39 33 28 22 17 11 6 0

1)
3 9

10
×

1
31

=
3
10

2)

1

1
2

×
4
5

2
=

2
5

3)
1 2

5
×

1
2 1

=
1
5

4)
1 2

7
×

5
84

=
5
28

5)

4

7
8

×
2
9

1
=

7
36

6)
1 4

5
×

1
4 1

=
1
5

7)
2

1

6
7

×
7
9

1

3
=

2
3

8)
2

1

4
5

×
5
6

1

3
=

2
3

9)
1

2

3
4

×
2
3

1

1
=

1
2

10)
1

10

8
20

×
2
16

1

2
=

1
20

11)
1

7

7
35

×
5
35

1

5
=

1
35

12)
1

10

9
20

×
2

81

1

9
=

1
90

13)

2

3
8

×
12
5

3
=

9
10

14)

3

5
6

×
14
9

7
=

35
27

15)
13 26

7
× 2

1
2

5

1
=

65
7

16) 26

2
3

8
9

×
3
5

1
=

26
15

17)

5

1
10

× 3
1
9

2814
=

14
45

18)

1

2
5

×
5
3

1
=

2
3

1.

3⁄10

2.

2⁄5
3.

1⁄5
4.

5⁄28

5.

7⁄36

6.

1⁄5
7.

2⁄3
8.

2⁄3
9.

1⁄2
10.

1⁄20

11.

1⁄35

12.

1⁄90

13.

9⁄10

14.

35⁄27

15.

65⁄7
16.

26⁄15

17.

14⁄45

18.

2⁄3

     

Solve each problem. Answer as an improper fraction (if necessary).
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1-10 94 89 83 78 72 67 61 56 50 44
11-18 39 33 28 22 17 11 6 0

1)

3

5
9

×
6
7

2
=

10
21

2)
12

3
×

1
21

=
1
3

3)
1 5

6
×

7
102

=
7

12

4)

2

5
6

×
3
4

1
=

5
8

5)
12

3
×

7
8 4

=
7

12

6)
1 7

9
×

5
7 1

=
5
9

7)
1

2

3
4

×
2
3

1

1
=

1
2

8)
2

3

8
9

×
3
4

1

1
=

2
3

9)
1

4

7
8

×
2
7

1

1
=

1
4

10)
1

6

2
54

×
9
18

1

9
=

1
54

11)
1

9

7
18

×
2
70

1

10
=

1
90

12)
1

7

4
56

×
8

24

1

6
=

1
42

13)

1

1
4

×
24
7

6
=

6
7

14)
7

1

21
8

×
8
9

1

3
=

7
3

15) 32

3
16

1

5
9

×
9

10

1

5
=

16
5

16) 11

1
4

3
8

×
10
9

5
=

55
36

17) 26

2
13 8

9
×

23
105

=
299
45

18)
918

5
×

1
2 1

=
9
5

1.

10⁄21

2.

1⁄3
3.

7⁄12

4.

5⁄8
5.

7⁄12

6.

5⁄9
7.

1⁄2
8.

2⁄3
9.

1⁄4
10.

1⁄54

11.

1⁄90

12.

1⁄42

13.

6⁄7
14.

7⁄3
15.

16⁄5
16.

55⁄36

17.

299⁄45

18.

9⁄5

     

Solve each problem. Answer as an improper fraction (if necessary).
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1-10 94 89 83 78 72 67 61 56 50 44
11-18 39 33 28 22 17 11 6 0

1)

3

5
9

×
6
7

2
=

10
21

2)
12

3
×

1
21

=
1
3

3)
1 5

6
×

7
102

=
7

12

4)

2

5
6

×
3
4

1
=

5
8

5)
12

3
×

7
8 4

=
7

12

6)
1 7

9
×

5
7 1

=
5
9

7)
1

2

3
4

×
2
3

1

1
=

1
2

8)
2

3

8
9

×
3
4

1

1
=

2
3

9)
1

4

7
8

×
2
7

1

1
=

1
4

10)
1

6

2
54

×
9
18

1

9
=

1
54

11)
1

9

7
18

×
2
70

1

10
=

1
90

12)
1

7

4
56

×
8

24

1

6
=

1
42

13)

1

1
4

×
24
7

6
=

6
7

14)
7

1

21
8

×
8
9

1

3
=

7
3

15) 32

3
16

1

5
9

×
9

10

1

5
=

16
5

16) 11

1
4

3
8

×
10
9

5
=

55
36

17) 26

2
13 8

9
×

23
105

=
299
45

18)
918

5
×

1
2 1

=
9
5

1.

10⁄21

2.

1⁄3
3.

7⁄12

4.

5⁄8
5.

7⁄12

6.

5⁄9
7.

1⁄2
8.

2⁄3
9.

1⁄4
10.

1⁄54

11.

1⁄90

12.

1⁄42

13.

6⁄7
14.

7⁄3
15.

16⁄5
16.

55⁄36

17.

299⁄45

18.

9⁄5

     

Solve each problem. Answer as an improper fraction (if necessary).
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1-10 94 89 83 78 72 67 61 56 50 44
11-18 39 33 28 22 17 11 6 0

1)

4

3
8

×
2
5

1
=

3
20

2)
12

3
×

1
21

=
1
3

3)
2 4

5
×

9
105

=
18
25

4)
12

5
×

1
21

=
1
5

5)

5

1
10

×
2
3

1
=

1
15

6)

1

2
3

×
6
7

2
=

4
7

7)
1

2

3
4

×
2
3

1

1
=

1
2

8)
1

2

3
4

×
2
9

1

3
=

1
6

9)
3

5

9
10

×
2
3

1

1
=

3
5

10)
1

5

6
35

×
7
54

1

9
=

1
45

11)
1

9

6
63

×
7
36

1

6
=

1
54

12)
1

6

5
18

×
3

45

1

9
=

1
54

13)
13

5
×

11
3 1

=
11
5

14) 5

2
1

1
2

×
2
7

1
=

5
7

15)
1

1

4
3

× 3
3
4

155

1
=

5
1

16)
15

2
× 1

4
5

9

1
=

9
2

17) 10

1
5 3

7
×

13
6 3

=
65
21

18) 25

3
5 4

7
×

13
5 1

=
65
7

1.

3⁄20

2.

1⁄3
3.

18⁄25

4.

1⁄5
5.

1⁄15

6.

4⁄7
7.

1⁄2
8.

1⁄6
9.

3⁄5
10.

1⁄45

11.

1⁄54

12.

1⁄54

13.

11⁄5
14.

5⁄7
15.

5⁄1
16.

9⁄2
17.

65⁄21

18.

65⁄7

     

Solve each problem. Answer as an improper fraction (if necessary).
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1-10 94 89 83 78 72 67 61 56 50 44
11-18 39 33 28 22 17 11 6 0

1)

4

3
8

×
2
5

1
=

3
20

2)
12

3
×

1
21

=
1
3

3)
2 4

5
×

9
105

=
18
25

4)
12

5
×

1
21

=
1
5

5)

5

1
10

×
2
3

1
=

1
15

6)

1

2
3

×
6
7

2
=

4
7

7)
1

2

3
4

×
2
3

1

1
=

1
2

8)
1

2

3
4

×
2
9

1

3
=

1
6

9)
3

5

9
10

×
2
3

1

1
=

3
5

10)
1

5

6
35

×
7
54

1

9
=

1
45

11)
1

9

6
63

×
7
36

1

6
=

1
54

12)
1

6

5
18

×
3

45

1

9
=

1
54

13)
13

5
×

11
3 1

=
11
5

14) 5

2
1

1
2

×
2
7

1
=

5
7

15)
1

1

4
3

× 3
3
4

155

1
=

5
1

16)
15

2
× 1

4
5

9

1
=

9
2

17) 10

1
5 3

7
×

13
6 3

=
65
21

18) 25

3
5 4

7
×

13
5 1

=
65
7

1.

3⁄20

2.

1⁄3
3.

18⁄25

4.

1⁄5
5.

1⁄15

6.

4⁄7
7.

1⁄2
8.

1⁄6
9.

3⁄5
10.

1⁄45

11.

1⁄54

12.

1⁄54

13.

11⁄5
14.

5⁄7
15.

5⁄1
16.

9⁄2
17.

65⁄21

18.

65⁄7

     

Solve each problem. Answer as an improper fraction (if necessary).
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1-10 94 89 83 78 72 67 61 56 50 44
11-18 39 33 28 22 17 11 6 0

1)

2

7
8

×
4
9

1
=

7
18

2)

1

5
6

×
6
7

1
=

5
7

3)
1 4

5
×

1
4 1

=
1
5

4)

4

3
8

×
6
7

3
=

9
28

5)

1

1
2

×
4
5

2
=

2
5

6)
1 2

5
×

3
4 2

=
3

10

7)
1

2

3
4

×
2
3

1

1
=

1
2

8)
1

3

4
9

×
3
8

1

2
=

1
6

9)
2

1

6
7

×
7
9

1

3
=

2
3

10)
1

7

8
49

×
7
80

1

10
=

1
70

11)
1

4

4
36

×
9
32

1

8
=

1
32

12)
1

7

6
35

×
5

30

1

5
=

1
35

13) 3

1
11

2
×

5
62

=
5
4

14)

1

1
2

×
16
9

8
=

8
9

15) 7

1
3

1
6

×
14
9

7
=

49
27

16)

1

7
3

× 1
1
2

31
=

7
2

17) 18

3
93

5
×

1
21

=
9
5

18) 14

1
7 5

9
×

7
8 4

=
49
36

1.

7⁄18

2.

5⁄7
3.

1⁄5
4.

9⁄28

5.

2⁄5
6.

3⁄10

7.

1⁄2
8.

1⁄6
9.

2⁄3
10.

1⁄70

11.

1⁄32

12.

1⁄35

13.

5⁄4
14.

8⁄9
15.

49⁄27

16.

7⁄2
17.

9⁄5
18.

49⁄36

     

Solve each problem. Answer as an improper fraction (if necessary).
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1-10 94 89 83 78 72 67 61 56 50 44
11-18 39 33 28 22 17 11 6 0

1)

2

7
8

×
4
9

1
=

7
18

2)

1

5
6

×
6
7

1
=

5
7

3)
1 4

5
×

1
4 1

=
1
5

4)

4

3
8

×
6
7

3
=

9
28

5)

1

1
2

×
4
5

2
=

2
5

6)
1 2

5
×

3
4 2

=
3

10

7)
1

2

3
4

×
2
3

1

1
=

1
2

8)
1

3

4
9

×
3
8

1

2
=

1
6

9)
2

1

6
7

×
7
9

1

3
=

2
3

10)
1

7

8
49

×
7
80

1

10
=

1
70

11)
1

4

4
36

×
9
32

1

8
=

1
32

12)
1

7

6
35

×
5

30

1

5
=

1
35

13) 3

1
11

2
×

5
62

=
5
4

14)

1

1
2

×
16
9

8
=

8
9

15) 7

1
3

1
6

×
14
9

7
=

49
27

16)

1

7
3

× 1
1
2

31
=

7
2

17) 18

3
93

5
×

1
21

=
9
5

18) 14

1
7 5

9
×

7
8 4

=
49
36

1.

7⁄18

2.

5⁄7
3.

1⁄5
4.

9⁄28

5.

2⁄5
6.

3⁄10

7.

1⁄2
8.

1⁄6
9.

2⁄3
10.

1⁄70

11.

1⁄32

12.

1⁄35

13.

5⁄4
14.

8⁄9
15.

49⁄27

16.

7⁄2
17.

9⁄5
18.

49⁄36

     

Solve each problem. Answer as an improper fraction (if necessary).
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